PATHOLOGY EXAM 3 2006

1. Which of the following is the least likely cause of left sided cardiac failure?

A. Systemic hypertension

B. Aortic valve sclerosis

C. Ischemic heart disease

D. Mitral valve incompetence

E. Diffuse interstitial disease of the lung

2. A patient with only a failing right ventricle will exhibit which of the following signs?

A. Under perfusion of the kidney

B. Pulmonary edema

C. Passive congestion of the lungs

D. Chronic passive congestion of the liver

E. Mitral valve prolapse

3. Unstable angina pectoris is caused by:

A. a fixed atherosclerotic narrowing of the coronary artery

B. complete thrombotic occlusion of a coronary artery

C. partial thrombotic occlusion of a coronary artery

D. coronary artery vasospasm

E. coronary artery aneurysm

4. Cardiac tamponade is the result of:

A. calcific aortic stenosis  

B. mitral valve prolapse

C. rupture of papillary muscles 

D. external rupture of the heart

E. mural thrombi following a myocardial infarct

5. Which of the following typically causes elevated serum levels of cardiac troponins?
A. A myocardial infarct

B. Aventricular aneurysm

C. An atrial septal defect

D. Prinzmetal angina

E. A cardiac arrhythmia

6. Forward failure caused by a failing left ventricle typically results in:

A. primary hyperparathyroidism

B. secondary hyperparathyroidism
C. primary hyperpituitarism
D. secondary hyperaldosteronism

E. secondary hyperthyroidism

7. A 60 year old man has smoked cigarettes heavily for 45 years and has developed severe chronic obstructive lung disease He has right ventricular hypertrophy with dilation His heart condition is best described as: 

A. Tetralogy of Fallot

B. hypertrophic cardiomyopathy

C. chronic cor pulmonale

D. acute rheumatic carditis

E. subacute endocarditis

8. Rheumatic heart disease is caused by:

A. infection of heart tissues by streptococci

B. antibodies to bacterial M protein cross reacting with heart tissue components

C. acute staphylococcal infection

D. disseminated intravascular coagulation

E. a persistent atrial septal defect 

9. Which of the following infectious agents is a common cause of myocarditis in the US? 

A. Coxsackieviruses A and B

B. Parasites

C. Herpes simplex virus, type 1

D. Epstein Barr virus

E. alpha-hemolytic Streptococcus viridans

10. Which of the following defects of the cardiovascular system is a right to Ieft shunt?

A. Atrial septal defect 
B. Ventricular septal defect

C. Tetralogy of Fallot
D. Patent ductus arteriosus

E. Rupture of the interventricular septum following a myocardial infarct
11. What is the red blood cell morphology following acute blood loss?
A. The red blood cells are microcytic and hypochromic 

B. The red blood cells are normocytic and normochromic

C. The red blood cells are macrocytic and normochromic

D. The red blood cells become spherical in shape

E. The red blood cells become sickled 
12. Which of the following diseases will be present in a patient homozygous for valine at the number 6 position of the hemoglobin beta chain? 
A. Hereditary spherocytosis

B. Alpha-thalassemia trait

C. Beta-thalassemia major

D. Sickle cell trait

E. Sickle cell anemia

13. Which of the following diseases is characterized by an acute form of anemia due to oxidant injury of red blood cells? 

A. Hereditary spherocytosis

B. Glucose-6-Phosphate dehydrogenase deficiency

C. HbH disease 

D. Sickle cell anemia

E. Iron deficiency anemia

14. Inadequate gastric production of intrinsic factor causes:

A. pernicious anemia

B. aplastic anemia

C. iron deficiency anemia

D. polycythemia

E. hydrops fetalis

15. A 62 year old woman is diagnosed with breast cancer, which metastasized widely to bone. She also has moderate anemia.  This type of anemia is referred to as:

A. pernicious anemia

B. sickle cell anemia

C. polycythemia vera

D. myelopathic anemia

E. megaloblastic anemia

16. A 32 year old man presents with multiple enlarged lymph nodes in the right neck. A biopsy of one node results in a diagnosis of Hodgkin lymphoma. What characteristic microscopic finding is present to render this diagnosis?

A. Amyloid deposits

B. Reed Sternberg cells

C. Anitschkow cells

D. Follicular pattern of neoplastic cells

E. Langerhans cells

17. Which of the following white blood cell neoplasms is most likely to have Epstein Barr virus infection as a causative factor?

A. Acute lymphoblastic leukemia

B. Small lymphocytic lymphoma

C. Follicular lymphoma

D. Multiple myeloma 
E. Burkitt lymphoma 

18. The predominant reactive leukocytosis in response to a parasite infection is:

A. neutrophilia

B. eosinophilia

C. basophilia

D. monocytosis

E. lymphocytosis

19. Acute lymphoblastic leukemia:
A. is the most common leukemia in adults over age 40

B. is caused by a translocation involving the bc12 gene

C. is an aggressive disease arising from precursor B or T cells

D. is able to produce Bence Jones protein

E. is composed of small, mature appearing lymphocytes

20. A common finding in patients with acute monocytic leukemia is:

A. red, swollen gingivae

B. round, lytic lesions in multiple bones of the body

C. Birbeck granules in tumor cells

D. a mutation involving the MYC gene

E. Bence Jones protein
21. A prolonged prothrombin time (PT) indicates that:
A. the patient likely has increased fragility of blood vessels

B. there is a deficiency in factor VIII

C. there is a deficiency in factor IX

D. there is a deficiency in prothrombin
E. the patient has thrombocytopenia

22. Which disease process causes microinfarcts and microangiopathic hemolytic anemia? 

A. Thrombocytopenia caused by prosthetic heart valves

B. Thrombocytopenia caused by myelotoxic drugs

C. Hemophilia B 

D. Disseminated intravascular coagulation

E. von Willebrand’s disease

23. Which of the following diseases is characterized by normal PT and PTT, normal platelet count and normal bleeding time?

A. Thrombocytopenia

B. Deficiency in vitamin C (scurvy)

C. Deficiency in factor VII

D. Deficiency in von Willebrand’s factor

E. Deficiency in factor VIII

24. The mode of inheritance of hemophilia A is:

A. X linked recessive

B. X linked dominant

C. autosomal recessive

D. autosomal dOil1inant

E. chromosomal translocation involving t(14:18)

25. Destabilization and rapid decay of factor VIII in the circulation leading to a hemophilic picture clinically is caused by:

A. a very low concentration of functional von Willebrand’s factor in the blood

B. a very high concentration of nonfunctional fibrinogen

C. thrombocytopenia

D. increased blood vessel fragility

E. prosthetic heart valves

26. Which of the following lung diseases is irreversible?

A. Compression atelectasis

B. Resorption atelectasis

C. Asthma

D. Contraction atelectasis

E. Microatelectasis

27. Which of the following diseases is directly caused by an immunologic mechanism?

A. Extrinsic asthma

B. Intrinsic asthma

C. Centriacinar emphysema

D. Compression atelectasis

E. Carcinoma of the larynx

28. Which of the following diseases is not believed to have an immunologic cause?

A. Wegener granulomatosis

B. Sarcoidosis

C. Idiopathic pulmonary fibrosis

D. Acute respiratory distress syndrome

E. Mesothelioma

29. The presence of the Virchow node is characteristic of:

A. sarcoidosis involving the parotid gland
B. pneumothorax 

C. metastatic bronchogenic carcinoma

D. diffuse alveolar damage

E. chronic bronchitis

30. Which of the following is a major cause of chronic obstructive lung disease?

A. Radiation therapy

B. Rheumatoid arthritis

C. Systemic lupus erythematosus

D. Sarcoidosis

E. Smoking
31. What is the cause of celiac sprue, a malabsorption syndrome?

A. Intestinal infection by retroviruses

B. Idiopathic granulomatous inflammation

C. Bacterial infection by Shigellae 

D. Immunologic reaction to gluten

E. Deficiency of an extrinsic factor

32. What is the primary pathogenic mechanism of diverticula in the colon?

A. Weakening of the colonic wall by E coli infection

B. Impaired peristalsis due to defective innervation by the vagus nerve

C. Herniation of colon mucosa through weak foci of the muscular coat

D. High fiber diet causing spasm of the colonic wall

E. Segmental weakening of the colon by granulomatous inflammation

33. What is the most common oral manifestation of Gardner’s syndrome?

A. Neurofibromas at the border of the tongue and on the lips

B. Odontogenic keratocysts in both the maxilla and the mandible

C. Melanin pigmentations around the mouth, lips, and buccal mucosa

D. Cleft maxilla and cleft palate

E. Multiple osteoms in the mandible
34. Colorectal carcinoma occurs most frequently in the sigmoid colon. What is the most common histologic type of colorectal carcinoma?

A. Transitional cell carcinoma

B. Adenocarcinoma 
C. Squamous cell carcinoma

D. Basal cell carcinoma

E. Adenosquamous carcinoma

35. In autoimmune gastritis, autoantibodies act against which of the following?

A. Gastric acid

B. Pepsin

C. Gastrin

D. Bicarbonate

E. Intrinsic factor

36. Which of the following pituitary neoplasms will most likely cause gigantism in children?
A. Somatotroph cell adenoma

B. Craniopharyngioma

C. Basophil adenoma

D. Prolactinoma

E. Chromophobe adenoma

37. Which of the following will most likely cause Hypopituitarism?

A. Basophil adenoma

B. Somatotroph cell adenoma

C. Craniopharyngioma

D. Acidophil adenoma

E. Prolactinoma

38. Which of the following is due to overstimulation by autoantibodies on thyroid stimulating hormone receptors?

A. Hashimoto disease

B. Conn syndrome

C. Cushing syndrome

D. Addison disease

E. Graves disease

39. Which of the following designates the clinical manifestations of hypothyroidism in young children?

A. Tetany

B. Cretinism

C. Acromegaly

D. Myxedema

E. Dwarfism

40. Which of the following is the most common lesion associated with bone resorption in hyperparathyroidism?

A. Ossifying fibroma

B. Osteosarcoma

C. Keloid tissue

D. Giant cell granuloma

E. Osteoid osteom

41. What is the most common cause of secondary hyperparathyroidism?

A. Right heart failure

B. Osteogenic sarcoma

C. Left heart failure

D. Kidney failure

E. Adrenocortical hyperplasia
42. Which of the following is the most common cause for spontaneous, endogenous Cushing syndrome?

A. Corticotroph cell adenoma of the pituitary 
B. Adrenocortical hyperplasia

C. Small cell carcinoma of the lung

D. Adrenocortical adenoma

E. Adrenocortical adenocarcinoma

43. Which oral manifestation is a component of the multiple endocrine neoplasia (MEN) syndrome type 2B? 

A. Multiple osteomas in the mandible

B. Melanin pigmentation on the lips

C. Multiple neuromas in the oral mucosa

D. Multiple odontogenic keratocysts

E. Multiple impacted teeth

44. What is the primary pathogenic mechanism of diabetes mellitus type 2?

A. Defective response of target cells to insulin action

B. Destruction of beta cells in the is Islets of Langerhans by toxic amylin

C. Lysis of pancreatic islet beta cells by autoantibodies IgG and IgM

D. Crosslinking of insulin by nonenzymic glycosylation

E. T cell mediated autoimmune destruction of beta cells in the islets of Langerhans

45. Which of the following is a unique feature of diabetes?
A. Hyperplasia of islet alpha cells in the pancreas

B. Nodular glomerulosclerosis in the kidney 
C. Infarction of the myocardium

D. Advanced periodontitis 
E. Hyaline arteriolosclerosis

